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MODBUS RS-485.

MODBUS
-
-

.

.
MODBUS ( (

status 3
status 2
status 1   

NA    

- [49] - [9]

- -
-[29], [30]-[39], [40]-

[0]-[6], [8]-

-
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status1 =      [ pefU  maxU1   maxU2  maxU3    pefU1/2    minU1   minU2   minU3  ]
------------------------------------------------------------------------------------------------
pefU      -
maxU1 -
maxU2 -
maxU3 -
pefU1/2 -
minU1 -
minU2 -
minU3 -

status2 =      [ pef  pfIU  Imed<  Imed>    IZO    min1   min2   min3  ]
------------------------------------------------------------------------------------
pef        -

pfIU       -
Imed<   -
Imed>   -

IZO        -
min1      -
min2      -
min3      -

status3  =   [ DDL   WKL    Q   NOFAZ    GOODU   LK   3F   1F  ]
---------------------------------------------------------------------------------
DDL         - -

WKL        -   
Q             -   
NOFAZ -    

GOODU -    
LK            -    
3F            -    3-
1F            -    

-
V12   = 381* (U1 / U220) ;
V13   = 381* (U2 / U220);
V23   = 381* (U3 / U220);

U
              U U U

V1   = 220* (U1 / U220);
V1   = 220* (U2 / U220);
V2   = 220* (U3 / U220);

U
              U U U

I0 = In* (In% /100)  ;               
i1 =  (I1 / I I0
i2  = (I2 / I I0
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i3  = (I3 / I I0 
         In    = hold register[6]

            In
             I
             i
             i
             i

1, 3 

11, 12 11, 10 
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